ZHEERX « 5iEnEn

N izl B4
|
i e B | m% | PR eemEEvEy | BeRy
- ODM21 RE YWEO1 YWK21
EQ C[ b ODM22 | oy Q25 | S0 Frmmem YWE21 YWK22
' — ODM41 = LD31 A6063 | ZEARENL YWEO1 YWK21
ODM61 0Cr18Ni9 | SUS304 = YWE21 YWK22

A MXBEEER, BREATE MM RS T B REIR Mo

|
10618 Yy | Aatk
E1 Pi_ L1 !
J1 !
i 1 3
@ Ll B A |
ol /Q a a I I @
co5 2N 1 =NHE g
M1 Dhr i i
Y | Dz,
| A8
|
|
) ] /\| !
%{ 1 w’ !
g !
d1 d2 i
JELFRPA TELf2%h2 !
1
!
Bs D2
prs) D Vhr R ¢6 "7 A B1 B2 P P1 P2 L1 L2 E1 E2 H
10 | *§01® 475 13 | 21 14
8 12 7 12 | 145
B O 12 [hooms| 5 | 9% *0012| 50 5 |22 15 | 6 |83 3
ODM22 10 12 | © 545 | 13 24 9 135 | 16
ODM41 w0018| 20 715 25 | 36 24
- . 12 .
ODM61 1’| 25 | *0021| o | 900 | w0015/ | 19 w0 |38 5 | 10 | 103 15119 ) 5
20 | *8%2T 25 825 | 25 41 | 15 19 | 225
=
A S Drr VH7 J1 J2 M1 M2 N d1 d2 f1 f2 h1 h2
10 +0.015
8 | +0015 4 75 95 | M3 3 35 6 3
ODM21 0 +0.018 7
ODM22 10 12 0 95 | 105 M4 45 5 5
ODM41 20
ODM61 15 | 9018 . 1 | 135 | M4 M4 | 45 75 5
20 [ 737 25 B e T M5 | M5 55 9 55
B R7S A B KI8T BEEET
) ODM21/41 ODM22/61 ODM21/41 ODM22/61
8-10 M3X8/M4X8 &1 M3X8/M4X8 &1 M3X4 24 M3X4 24
8-12 M3X8/M4X10 &14 S M3X8/M4X10 &14 M3X4 24 M3X4 24
10-12 22—‘% MAX8/MAX10 &1 ﬁalé MAX8/IMAX10_&11 XY 7 M3X4 21 %&‘m M3X4 21
15-20 | 20 [ M4X12/Max20 &1 VWE21 | M4X12/M4X20 &14 Y&E1 M4X6 24 Y%ngz M4x6 24
15-25 M4X12/M5X20 14 M4X12/M5X20 &17 M5X10 24 M5X10 24
20-25 M4X20/M5X20 &14 M4X20/M5X20 &1 M5X10 24 M5X10 24
2%
% s0ODM22-D8-V10 ,
T= ZHADelivery
I3 BS N
C 2 “’ A=
& BRERITS | ODM22 8 10 OAFRREHEFEEE

Q www.vipdo.cn ©400-098-1117 \ENE=El42itgri e rEa=;
P299 CEERMNERLE, IERWEERE, ILRTESH!




